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NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers AB,C & D to each
question are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in front of each
question with Marker or pen ink on the answer sheet provided. :

1.1, The number of methods to find H.C.F are: e AISURAL LS 14

(A) 2 (B) 3 () 1 (D) 4
2. Solution set of ]x—3‘:5 is: - -9¢5JJ|X—3|=5 P
o) {-8.2) ® {82} © {8-2} o {-8-2}

3. Solution setof x> ~5x+6=0is: -+¢{J’K x2-5x+6=0 .3
@ {23} @ {-2.-3) © {2 o {3}

4. Solution setof x* =1is: :§.¢{J’K x*=1 4
) {£i) @ {I © {-1 o {1}

5. In a unit matrix diagonal elements are: ’ -L{?Z.nubll_/";uf._z’ﬁ&lj(_}/’.g 5
(A) 1 ® 0 € 2 (D) 3

6. If A'=—4, then Ais called: et A A =—4S1 6
{A) square matrix _/Ls"df/ (B) transpose J:;Jt/‘ (C) skeg-symmetric ‘ﬁﬂ/f (D) symmetric J(I‘J

.-:r&&fn;z‘.:«f‘(éﬁ/(?w&" 7

7. A triangle with no equal side is called:

(A) Right angled &y sl/1276 (B) Scalene &AsfUsU¥
(C) Equilateral & UueUidsls (D). Isosceles &L sl
8. The number of altitudes in a triangle are: _q_?LnCGLUf&E*ug 8
(A) 4 (B) 2 ) 1 (D) 3
9. The volume of right circular cylinder is: _a,-thK/ﬂd;/’bdeﬁ 9
5 rth xrth 4
(A) mreh B8) — (C) oy $7r
3 2 3 ”
10. The area of rectangle is: -‘LVMJJ(J'&/ .10
1 1
2 s Sl

11. The co-ordinates of the origin are: e eliat A1

(A) (0’1) (B) (1’0) (C) (0’0) (D) (0)
12 (a+b)(az—ab+b2)=? (a+b)(a2—ab+b2):? 12
) (a=b) ® o +b’ © (a+b) © o -b

i L
13. g = q? is a surd of order. o0 Ja =a? A& 13

1

(A) 5 (B) 2 € 1 (D) ©
14, 1f p(x) =% =2x"+5x+1 then p(1)=2 Lep(Dmp(x)=x —2x* +5x+1/1 14
(A O B) -7 € -5 D) S

15. A quadratic polynomial is of degree. _la*:n.g»'a’u’//f(du» 15
(A) 3 (B) 1 ) 2 D) 4
21-10-A-TC W -
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Marks: 60 Time:2:10 Hours & 2:10:3 60
Section-I ~ 2x18=36 Pw '4 (- lel,.’o ’

2. Write short answers of any six parts from the following. 2x6=12 -u_)}f..-,gm/?&lzu;c,éfc,uu s 2

X’ =5x+6 - "
i. Find the value of P(l), If: - P(x)=ﬁ— ' :‘I"-):/f'}y“‘-’-bfp(l) A
ii. Simplify: (7+\/§ )(5+\5 ) S
2 7 2 T ., .

iii. Rationalize the denominators.'_z"_3 ﬁ'ﬁ-i {;,jt/c-,} ii
i i ize the d inat \/—5+\/2 u’/VJ”tf 7
iv. Rationalize the denominators. \/3_\/—2- ULk LF v
v. Find HCF: abxy , a’be e
vi. Find LCM: 2ab,3ab , 4ca g fisiunsg 2ab,3ab,4ca i
vii. Find the square root: ' 16x +24xy +9° -L):/F')L”)Jg Vil
viii. Look the figure and answer. v Al 52 . -q_‘.;.._,b?/m_f:ff 5 i

q
// Lo .

(i) The pair of alternate anglés. (ii) The pair of supplementory angles. A2l /‘—‘;Lf (i)e—tn2lUgslist (i)
ix. Write down the angles marked-with letters. r - /p"’uf‘—’d/uz;liuiﬁw'cf A7 X

o
pa]

]
151

3. Write short answers of any six parts ffom the following. 2x6=12 -u_xffi.:,gm/""&nzmgc.éfc,gt‘b@u .

i. Factorize: 2a* —bc~2ab+ac ' -g@f i
i. Factorize: x* -9x-90 ..é:,{df i
ii. Factorize: 8x’ =3 e85 i
: 2x+1 2x+1
iv. Solve: =1 : - =1_é§ff iV
x+5 x+5
v. Solve: 3(x—2)<2x+1 -cn"__if)’ v
vi. Solve: Ix+4=17 ' -;_‘.{J" i
vii. Find the third side of each right angle triangle with -.7_};c»lCM!;Jélbnla.ﬁ’aﬁc}”&}l/.‘?&ﬁwlﬂl,—/’b‘ i
legs a and b and hypotenuse c. b=5,c=61,a=?
viii. Find the volume of rectangular box with lenth 4m, s%43Uﬁ.4FP,ZK,5VJVQ i
breadth 3m and height 2m. , A w2l adig
. ix. Find the value of "a" in the given diagram. -uj/?}”;wf J a uﬁf@@; A

25¢m
24cm

R
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4- Write short answers of any six parts from the following.

2x6=12 Sy fen Pl iz e et it -4

i. Solve by using factorization: X =4x-12=0 -é_,?:)’df;g;), i
ii. Find the Transpose of the matrix: o1 4 -4@*’},&)@9 i
23 4 01 5 ]
4=/1 5 5|,B=|2 3 6 .
ii. Find A-B, if Segboas i
4 9 3 1 4 -2] .
-3 24-1 5 ¥ -
iv. Find the matrix product. 4 —1ll-1 3 S AP E
-2 5 .
v. Find the determinants of the matrix: 1 4 -é.:ri?:"”(‘f“’ bF v

Vi,

Draw a triangle ABC in which:  mBC = 5.4cm,mAB = 4.3cm and mAC =3 .9cm - fU” 2 bABC L

vi

vii. Draw a semi-circle with diameter 4cm and center at O. _?:_LGfbﬂllbhﬁéy’ﬁé“‘ 4{0)‘// Vi

viii. Describe the location of given points on the number plane: (7,-5) _élﬁfw}éﬁé_:ui’dﬂ’d;j viii

ix. Find the distance between the pair of points:  (-1,3),(-2,-1) -%Pksut_méwi .ix

Section -I7 Bx3=2 i""‘""*‘“"” »
Note: Attempt any three questions from the following: -q&fcgwﬁam:’cf;(jfcwdiau %
1 1 . 11

5. () Find the value of X~ —and x Tl x=243  Bylbeif K FoT A= ()

(b) Find H.C.F by factorization: X464, 32 -16 e s LeE (L)
6. (a) Factorize: £7- " -4:5f~ ) 6

| I =1

(b) Given that 4= [2 3 Jverify that: A*—44+51<0 -2:7’-{-/,&";’}1 4= [2' 3 J ()
~ 4 . 4x
7. (a) Solve: 5(2“3) 210~— . _EF (U 7

{(b) Solve by using quadratic formula: Xt =5x+6=0 _égﬂ"c_,u(f,gdzm ()
8. (a) Draw a circle passing through the three vertices of an _n,z&‘f4JuJé}£u’~wmg,u (W) 8

equilateral friangle with length of each side 4cm. S /L‘f.a/’bmbfc_uiurbim
(b) Find the area of an equilateral triangle whose side is 8cm. _L{/I"}VJJKJL;_ s 8(‘}" Vel o uiSsls (1))
2 = "

9. (a) Use Cramer's rule to solve the simultaneous equation: < ;C :‘33) y=2 ,g{d’fuﬂ;ch_.g AL S () 9

(b) Show that the points A(0,2), B(3,-2) and C(0,-2) are .QC(O;Q.)MB(3,—2)rA(O,2)LG?f&;f-C~4L= (L)

vertices of a right triangle. _ugu’bﬁ&if':;l)l;ﬁ

22-10-A-
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NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers A B,C & D to each
question are given.Which answer you consider correct, fill the corresponding circle A B,C wr D given in front of each
guestion with Marker or pen ink on the answer sheet provided.

1.1. Area of a semi-circle is: et fK I hnd 1.1

) 7’ ®) 7'r () 27r (D) —;—7:1*2
2. The number of angle bisectors in a triangle is/are: it L Uil sl 2
(A) 1 (B) 2 (C) 3 (D) 4
3. The angle bisectors of a triangle are: Y P T VYTT Y
(A) concurrent F; ifi (B) collinear k(7
(C) perpendicular DfkuaT _ (D) Non-concurrent b(?/f
4. A point in 4" quadrant has its ordinate. -é,(}ngfo,n:':,‘ﬂ‘C_eﬁél,uf&é,g 4
(A) positive = (B) negative d" (C) zero A (D) one VQ
5. (a=b)(a’ +ab+b)="? (a-b)(a* +ab+b*)=7 4
() (a—b) @) (a+2) © @-b ©) @+
5 a —3ab(a-b)-b’=? a’ -3ab(a-b)-b"=? g
() (a=) @) (a+b) © a-b ©) & +b

7. A cubic polynomial is of degree: -Lat"n,?/;m’//?(ﬁu/ 7

(A) 0 (B) 1 €y 2 (D) 3

8. The product of two expressions="? S‘=.,/2’J"laKu:’~’.d;{I» .8
By LCM Pk B) H.CF 7 #h
(C) LCMxH.CF Fhbx Fioitsty; (D) LCM+H.CF e+ Fiobons

9. The symbol < stands for: -%d&u;s.»/w 9
(A) less than < {He (B) greaterthanorequalto < slillze
(C) less than or equal to e slelbe (D) equal to bt

10. Solution of [%~3|=5is: ceerf¥[x=3=5 10
(A) {8,-2} @ {-8-2} © {82} @ {-82}

11. Factorization of (x" "16)( - $AS (Jc4 —16) 11
w (1-2)(x+2) @ (x=2)(x+2)(x +4) @ (+-2)(x+2)(x-4) @ (x-2)

12. Two matrices with the same order and equal corresponding L Munut»fu%id)g«"wl:;,/égf_)@; A2

elements are called:
(A) equal matrices  JESsl- (B) diagonal matrices JF$A
(C) square matrices ./Ls"df/ (D) unequal matrices _,Jb"d;vff
13. In matrices (4B)™ =? (4B)" =7t 13
(A) 47! (B) B € 4B (D) B4
14. A polygon with four equal sides is called: -c"_élkfund;véwru;/{!‘ﬁf&wuf/?ﬁg 14

(A) Polygon Ly (B) Parrallelogiam e (C) Square & (D) Rectangle J%'/

15. Area of an equilateral triangle with side "a" is: ~4‘;.tn,5/K:n"a"é2’Ku’-wCLL2de;L/ 15

1 \/§a2 \/§a2

(a) 5 ®) O © = o~
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Marks: 60 | Time:2:10 Hours & 5. 1¢:.=3,
Section -1 2x18=36 Ji’l.b
2. Write short answers of any six parts from the following. 2x6=12 _UIJ;}.:[,LZ/‘?LHZIA_?LJJQ_JJJZWJ
_ _ , 16a°’ b mm o
. Reduce the rationaf Expression to the lowest form: (W T ey _&D’,«;u:fg//{fu}?d’t d
3 5 12a°b° +20a°p s - 5 ,
X _‘y 2, -l X _y
li. Reduce to lowest form: -’d’d P
3y—3x - w&q///: 3y—3x !
2 2 )
iii. Solve by formula. (x + 2y) + (x - Zy) _qu"LuJUnG il
iv. Rationalize the ¢ inat : 1 b PLIT #
V. Rationalize the denoming or.- - & kIR F v
. 4-./5 4-/5 = i
v. Find H.C.F by factorization. 35q25'3b A5a’ch? | 30ac%p] -%ZF}V(‘A’lgu.’j_Jjédj v
vi. Find the L.C.M by factorization, 2ab,3ab,4ca ‘éfFP(L.C.M)ﬁ_qusdf:yJ; i
vii. Find the square root. 16x* + 24y + 9,2 _Fé-?y"’(‘}/u,@ Vii
viii. The sum of two angles is 1000. The supplementof first angle a__/u._uﬁlfo,Ué‘%:‘L1OOO.peru,g;u;; viii
exceeds the supplement of the second angle by 40°Fing angles. -g,_{/{ﬂl’”z:,ﬂ)v%ul,)400c‘,-_‘aﬁflf£é_:lj
ix. Write down the angle marked with letter. 135° _q/r}’”.y} L,(:,:Uo}ﬁwa(fiﬁ:f ix
b
3. Write short answers of any six parts from the following. 2x6=12 _L{/'_;jcagb?/ﬂ.éi"f.lf&(jléz;wdjéﬂ 3
.. Factorize: x° +9x+20 -L[/df-“ A
ii. Solve:’x+1’=5 'X‘FI’:S_?»{)" i
iii. Solve: 3x+3(x+l):69 ,a“.iff ii
iv. Solve: 8x® — 5 8x’ -y’ ,4:)’ v
4x 3x
v. Solve: ; ?ﬂ—zz 4 _éfé':}’ Y,
vi. The diagonal of a Square is 14cm. Find its area. ,uj/ﬂ-";}/(dl’.{_f14}:{&/ Vi
' 2x+1
vil. Solve: - ; =} _é_?f)" Vii
X+ ; )

viii. Find the area of an equilateral triangle whose side is 8 m. , -‘L,KB#KLJ)'_LZ/?}J‘JJ{C:MU‘LMWJ}[/‘ Viii
ix. Find the third side of each right angle triangle with legs | ,é,q/?)ﬂé}’r/f bl s izt ix
"a"and "b" and "¢" is Hypotenuse. a=3, b=4 ¢=7 el keind sibea

Write short answers of any six parts from the following. 2x6=12 _Q’/‘_}f@l‘,m/‘?{:fﬁzl{aéfc_ddj@: -4

i. Solve by using factorization method. x? ~6x+ 5=0 _éffdf.:iuig A
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: 2
e bu using factorization method. 2x = ; 4 [J’d/’,ﬂu |
gl 2 3 g 7 )
 the value of ~ ( 'A) Tl 5177 14 6 :ﬂ%?ﬁ“&gtf}(B_A)
-2 5 » _1=2 3
i the determinant. | 4 A) ,é..;ir:b"d”'ts’ |4
5 2 4 & e '
te in the form of linear equations. o 3y = i duf”guffJu?i,p@,,_{
1 0 A -1 0
S A B
oy ) o e
d the distance between (a, -b}, (b, -a). é()*’yuuwé -a)bl
_é_ u/')-..—ﬂf‘JU'J/JLdLJ//U“4/O/’;’

w a semi circle with diameter 4cm and center at 0.

TF= 6. 5cm. AD = 4 8cm and £BAD = 90° S b

w a rectangte ABCD, in which:
Section -II 8x3=24 ('»Jo
Attempt any three questions from the following: -d/}fa&iﬁﬁaﬂlrdadfa‘ﬁdj@» i

p 2
| |
how that: (24*:) “(Z‘Z") = 4 _;’/_;f—(;/.l:" (

O Sy lAH =x—T. L= 102 +11x+ 70, B2 g A

1d the required polynomial. A =

_— a+hva+b _%-ifjf |
2 3] 17 2 51 41 )
fA :{1 51?['; :[4 6} then show that”3 ~ 3l = 3(8 A) ~é:_5";ct=;’ﬁA _{1 S}B :\:4 6}/!
~ ‘ | x—2 2 x-—4
Solve: 7—~+5< c _L[/Jy
10x” -~ 5x=15 IS8 K

Solve by using quadratic formula.

e OGO L E S b

~onstruct a rectangle with sides 10cm and 6cm.

_y S Y I Sy

“ind the volume of sphere with radius 3cm.

e the simultaneous equations by the matrix inversion method.
x+y=2
p= A4 X

-u"J,bv[C (4,3).41B(6,2)-A(2,4) ngfcf:/l,

S0lv

Show that the points A(2,4),B(6,2) and C(4,3) are collinear.
24-10-A-
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